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SECTION-| : PSYCHOLOGY
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Agsociation between “t'muiu

L
........
wE

response is known AS
(A) Learning

(B) Conditioning
(C) Retention

(D) Motivation.

“Learning Design” is emphasizes
in: . ."'-—:;:-'":'.'-

% ‘:?‘m "
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(A)Construction
S i @
oy N
shaviourism
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(C) Gestaltism

(D) Hormic view.

Who gave the theory of Cultural

and Bio-socio development?
(A) Watson

(B) Pavlov

(C) Vygotsky

(D) Maslow.
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(A) sdma =4
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(D) s wyfal
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(4)

The stages of Memory are
(A) Three

(B) One

(C) Two

(D) Four.

Pavlov belongs to which country?
(A) Germany

(B) Russia

(C) England

(D) America.

“l know the chemical formula of
water is HyO" is a example of
which type of memory? -
(A) Semantic memory

(B) Episodic memory =
(€) Procedural memory

(D) Working memory,
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ich ool
7. According to Vygotsky which

is used by Children during

wim #? . .
interaction?

(A) 391 W (A) Internalization

(B) ®HEgpin By Culture

(C) ww (C) Llnm.'lilh

(D) wErE (D) Society.

TR F AY - 8. Gestalt means

(A) 99 (A) Mlusion

(B) wrsitHin (B) Perception

(C) FrarETm (C) Environment

{p} 1{[3'}1 (D) Whole.

a9 9 fom T ‘{Tdﬁ'ﬂi A% | 9 Which of the following Greek

“F s s s !3“ T sfam philosopher believed that

fEm w3 knowledge is acquired through
learning and experience :

(A) =2
(A) Plato

) 1 (B) Aristotle

(C) sfsfagta » (C) Archimedes

(D) 79 | = TN (D) None of these,.

1-Series-C  (5) P.T.0O



o, AfgEfer W oSTE-F w s

(A) &3 & B
Was (B f@ & 3
(C) ®/F & W

(D) Z@#7 F g N

. srodvm fafa =1 fewes fres R
(A) & ar=q
(B) famem g2

(C) Zowig

(D) TTETE)

10.

11.

The concept of [,

Quotient or 1Q was g

(A) Galton
(B) Binet
(C) Stern
(D) Termon.

Who invented Intros

method?
(A) Herbert Sorenson

(B) Wilhelm Wundt



13.

14.

15.
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(A) 15 99 @&
(B) 6 a4 TF
(C) 9 99 ©F

(D) 8 a9 aF|
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mﬁmmﬂﬁwﬁd“"“"
sfee ¥ T4 £

*(A) wfedEt
(B) s
(C) Eqﬂw [w)

(D) wiEnE

(7)

13.

14.

15.

At what age does the child’s brain
develop and attain almost full

size”

(A) up to 15 yvears

(B) up to 6 years

(C) up to 9 years

(D) up to B years.

According to Psychological Freud Id
is based on :

(A) Fear

(B) Pleasure

(C) Disappointment

(D) Imagination.

Self centered natured person have

orererere. personality.
(A) Extrovert

(B) Introvert

(C) Ambivert

(D) Endomorphic.

P.T.0.



16 fewm = wfEm 2
(A) Efrga
(B) Fr=m
(C) qui
(D) zrqf,

17. Wmﬁﬁmw
i #?
(A) =T
(B) wwvatem -
(C) =uferm
(D) fa=m
18.  wgwEE s d 5 dee @
fere g=md ® wawdt 27
(A) 30 ¥FvE § ¥
(B) 50 ®&vE
(C) 50 ®®vE A
(D) ¥ & wif T

(8)

16.

17,

18. For how many

Development is a process
(A) Split

(B) Continuous

(C) Whole

(D) Broken.

What to do you understand b

Psychophysical differences’
(A) Personality

(B) Adjustment

E (C) Individua)

(D) Anxiety.

second?
short term memory Holds

informations?

(A) 30 Seconds or less

(B) 60 Seconds

(C) More than 50 seconds

(D) None of these.



19,

20,

21.

(A)4 2 6 3d o
B)o 8 | ad o
293 =

(D)8 & 12 a4

farma sl W A = 2
(A) MO

(B) #rE

-

(C) gFAEr

(D) T
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q amt 27

(A) THifts  SrETaSHAdl
(B) ¥HME ® AETEFHAl
[(:}aifﬂlitﬁ # AEYIFA

(D) §ian F1 sEvaHal

(9)

19.

20.

21

According to Erikson's theory,
Trust versus Mistrust comes at the

age of :

(A) 4 to 6 years
(B) 0tol years
(C) 2to3 years

(D) 8 to 12 years. -

Revival of Past experiences 18
(A) Retention

(B) Learning

(C) Recognition

(D) Recall.

In the Maslow's theory of

Motivation which needs comes last
in the Hierarchy ?

(A) Physiological Needs
(B) Esteem Needs

(C) Need of Self Actualization

(D) Safety Needs. |

PT




. fer w10 WvaEel fFE® | 22, Who made “Sixteen Persongls,

o Fiffm &7 Factor questionnaire™
(A) o (A) Erikson

(B) (B) Binet

(C) =iesd (C) Watson

(D) #z=) (D) Cattell.

23. Wﬁmﬂmﬂﬁﬂﬁﬁﬂ 23. Who compare the Human mind

T fFmms =1 a0 with floating Iceberg?
(A) Tz wos (A) Sigmund Freud
(B) o (B) James

(C) #Em | (C) Cattell

(D) sfemars) (D) Allport,

24, “wEifagm & fagle” e T | 24, mbmk'ﬁhdpluofﬁy:hﬂuﬁ'

# fagm #=E 7 is written by -
(A) wred =IfAs (A) Charles Darwin
(B) Tz wmz (B) Sigmund Freud
(C) faffmm . (C) William James
D) ufre (D) Erikson.

N1 Series.C {10)



27.

e 9 | fed wraoys nedt frafas
w=Tm &7

(A) T[T
(B) wan
(C) 3Jur=4

(D) 399 | =wis TEN

(11)

27.

Which of the following is controlled
by Thyroid gland?

(A) Glucose '
(B) Emotions

(C) Metabolism

(D) None of these.

Who started scientific study of
creativity?

(A) Mednock

(B) Guilford

(C) Galton

(D) Torrence.

Who is the Father of Experimental
Psychology?

(A) Wilhelm wundt

(B) Jung
(C) Sigmund Freud

(D) None of these.

P.T.O.
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tIA} UTHETEH
(B) f=
(C) '=

(D) foem

fean

(A) =5
(B) Wz
(©) Twis
D) sHfersid,

-— &z

28.

Operant rundlnum‘l

associated with
(A) Thorndike
(B) Skinner
(C) Hull

(D) Miller.

Inkblot test given by
(A) Galton
(B) Freud

(C) Rorschach

(D) Allport.

Tﬂ;m h‘mé mSTI’IﬂPsychnlngmnl method o
fafu ¢,

Lﬁliﬁnﬁﬂ

(12)

individual study of a Child is-

(A) Rating scale

(B) Questionnair®
(C) Case study

; tal mnihn-d.
(D) Experi®®®



@imtiun Q. No. 31 to 33 : Choose
}
‘the correct from of Indirect speech.

31.

SECTION-II : ENGLISH

“Welcome,” he said to her.
(A) She was told welcome.

{E] She welcomed him.

(C) She was welcomed by him.
. - —.«y
(D) None of t.h%&‘}% lf& Q?E,?SE‘_T ‘?’%
) ﬁ '|l'a-="'" et
He said to his son, “Don’t behave
like a fool™.
(A) He advised his son to behave
<,
like a fool.
(B) He advised his son not po
behave like 2 fool.
(C) He suggested his son to be a
fool but not to behave like a
fool.

(D) He did not advise his son to
behave like a fool.

es-C (13)

393,  Amar said to Reeta, “Lets solve

these sums".

(A) Amar told Reeta to solve

sSums.

(B) Amar propesed to Reeta that
they should solve those

Lo}

sumsi’”
AR A ot a0
sums jointly.

(D) None of these.

34. Who did this ?
(A) By whom was this done?

(B) By whom was that done.
%C) By whom was this do.

D) By whom was that do.

PT.0.
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35. My watch was lost -
(A) Watch was lost by me.

«(B) 1lose my watch.

. (C) Watch had lost by me.

s (P) 1lost my watch.

a6. Quinine tastes bitter :

(A) Quinine is bitter when tested.

(B) Quinine was bitter when

tasle.

(C) Batter in taste is quimne.

(D) None of these.

pirectio® Q. Nos. 37 to 40 : Choose
“W‘mem'm

in MAL letters :
give®
IRM
7. CONF
(B) Ratify

) Revolutionary

'DJ R” . W

39.

40.

ABANDON
(A) Destroy
(B) Discharge
(C) Eliminate

(D) Abdicate.

DEXTEROUS
(A) Qutspoken
(B) Intelligent

(C) Skillful

(D) Diligent.

PERIL

(A) Danger
(B) Calamity
(C) Abolish

(D) Disdain.



Direction Q. Nos, 41 to 44 : Identify
the appropriate alternative from

the given option for filling in the

blanks :

41. To save my life, I ran fast, and
".coioonn. veach safely.
(A) _Would

42.

(B) Was able to
(C) Could

{D) Can.

1 was afraid t_hgt if I asked him

again he .........: refuse.

(A) Might

{(B) Can

(C) May I

@) Would.

He ....ocoesomne DAVE taken pity on the .

Bagger.

(15)

Direction
the correc

(B} OCught to
(C) Have to

{I)) None of these.

She ....ccooarmmeens help laughing when

I had a sneeze.
(A) Would not
(B) Can not

() Could not

(D) May not.

Q. Nos. 45 to 48 @ Choose
¢t article from the given

option

45.

The World is .ooocommmmmrese happy

place.
(A) The
(FJ A
(C) An

(D) None of these.

P.T.O.



47.

beauty is short lived.

(A) A

(B) An
(C) The
(D) No article.

Yesterday .............. EUropean

called at my office.
(A) A

(B) An

(C) The

(D) No article.

hpexams.in nearest grocer

(A) ’n“rA X
‘B) An, The y
iC) A, The

D) The, A, *

1]
G

(16)

Direction Q. Nos. 49 to 51 Oy
the most appropriate Prepos,
out of the given choices;

49 HeisIll ... fever,
(A) of
(B) from
(C) mn
(D) with.

The Auditor is entitled ...

remuneration.
(A) for
(B) of
(C) to
(D) by.

51. We should all aim .......-”

excellence.
(A) on
(B) at
(C) of

(D) for.
s



Direction Q. Nos. 52 to 54 : Choose
the World is opposite in meaning to
the words printed in Capital.

52 EXPEL
(A) Transform
tB) Promise
(C) Absorb
(D) Reject.
53. BENEATH
(A) Shape
(B) Aloft
1(:::.! Below
(D) Rexemhlrunm.
-.EI ELICIT
(A) Ap]flaud
(B) Involve
(C) Wit_l}drnw
(Dy Languid.

1-Series-C

(17)

Direction Q. Nos. 56 to 57 : Fill in the
blanks with appropriate conjunction
for the given sentences :

B5. eiiimeannien he ran very fast, he

missed the bus.

(A) As
(B) When
(C) Though
(D) Unless.
BB.  oecerecrresans did I reach the station
.............. the train left.
JAL-Fhough - Yet
(B) So — that
(C) Nosooner - than
(D) Either — or
57. I worked hard ..-............ | should
fail.
(A) But
(B) Lest
(C) Yet
(D) And.

PT.O.



Direction Q. Nos. 58 to 60 ; Select
the correctly spelt word,

58. (A) %umrﬂunua

figl Super flous

fC ) Sﬂ]}h’!‘ﬂuu

(D) None of these.

29,  (A) Hﬁmngeneug

B Humugu‘qa_uu;

60.

(C) Homogenous

(D) Homogenerous.

(A) Circumfernce
(B) Circumfence
':C} Ciﬂun}t‘are“m

(D) None of these



SECTION-III : HINDI
61, s & fawdtmds vz 5 87 | 64, ‘v’ wlm wn 1

(A) IFaHFn (A) e
(B) su favard (B) wifem

(C) ®fgam) () =F (A) 3 (B)
(p) &) (D) T & | FE T

. al
62. Wﬂﬁmﬂ_ﬂﬁﬂmﬁ 65, @Mﬂﬂqﬁﬂﬁiﬂi

= 2 Fm s‘rfli’:Q
(A) FEfEr ((\:%é

(B) @EF=

{B; ST *a
Qe () A (A) #HT (B)
X\ ' (D) I7& H ®@ w0

6. ‘T W wA o @
(A) sAfFTEE® (A) |
(B) nferarer : (B) 2
L (C) wEaTh (03
(D) TEEAEE ; ¢ (D) 4.

11-Series-C (1) PTO.




g F TR T H ' i
67

(A) STETERI
(B) ¥ & 8 W Be &HA]
() F9a fosm EERC )

(D) T =1 W 9 off | g
£

68. “ﬁwmmﬁnm
w1 oo 2.

(A) UT&h &H H = &Y

(B) & 9= W ®M

(C) 9" H=1 oifks W ==

70.

71.

12

E w ay §,

(A) G foram

(B) #tera ﬁ:,m

© W () st (g,
D) W F 3§ =0
AT F e wm ¢
(A) 3

(B) 4

() s

(D) 6.

A F amyn W g’ I W
= 2

(A) T

(B) =919

"fg,; fadeft

(D) agw\4l



5 RN TRETE 2 76.
(A) §H (A) 11
(B) 93 (B) =
(C) &1 (C) AN
(D) FuAEE A * (D) v ol il
74, e’ v &1 AT T E 7. qﬁﬁa}ﬁrrr#ﬂai‘?
(A) T . (A) 5
(B) =AT (B) 4
(C) arm (C) 7
(D) &l | (D) .
75 weE fod A €A A s e d we-w @ &
ﬂ: (A) Tt Sl ) e
(B) #ifa® (B) &%
| (C) Wt ©)
(D) =rarE (D) g
~SoviesC (21)

PTO.




80.

‘o' w1 areR B €
(A) FE¥l "TE

(B) ¥ [FM greF

(C) W& =T

(D) W= |

82.

83,

84.

(22)

(C) 3

(D) 4.

(A) Tavrem
(B) favrsy
(C) faug
(D) wiearyrgo

'ged wEm dm ow € #
@ #2

(A) wionef=
(B) =
(C) w&v®

(D) sudwa § @ ®r¢ A



g5 I F U TINY F AN

' T F#1E-m yTEw 2.
(A WA TEAy

F

(B fasam gy

.i.lr."l e away

4 (D) fFm faveam gz

R, TI91 = FHENW T HEH
vEH & B B

(A) |
(B 2
l(_:] 3

(D) 4

(23)

BE.

= 4 s avt #:
(A) |
(B) =
(C) ®

(D) =

forg wmm W wam e AW
aﬁmmiﬂﬁ*mm
W@ 38 FEd

(A) FoEraS

(B) Frrggar=®

(C) frearas

(D) HErgaTaE |

we & feed wwn €7
(A) 1

(B) 2

(C) 3

(D) 4.

PT.0.



SECTION-IV : MATHEMATICS

por® g & frmm p @@ [ 91 PQR s a triangle FIght g,

ol

ﬂPﬁ:lﬂﬂﬂmFR=2‘lHﬂﬁ PifPQ=lﬂ{'m H“dpﬂcﬂ
L
QR ®m: find QR :
Q Q
10 10
cm cm
1 ]
. 24 cm Ra P 24 em R
i @
(A) 56 em (A) (\
)
(B) 26 cm ((\ 26 em
(C) 46 cm *E (C) 46 em

(D) 36 ; (D) 36 em.

zywaa 0.65 =1 ® wfmem § | 92, Convert Decimal 0.65 frad

e . to percents :

(A) 605% (A) 6056%

(B) 650% | (B) 650%

(C) 65% (C) 65%

(D) w7 “ w1l T . (D) None of these.

B11-Series-C (24 J——




93,

95.

..nu-s.amc

q 3 9 wfavm affs = 9 | 39

Y 45 VYRY A # w9 9§ fru
304 e va 3um o e

(A) 200
(B) ¥300
(C) T400

(D) ¥500.

%4 fama & 9B o feaw @9 @
Hﬁgﬁwwmmaq
|z w1 ¥150 § e E:

50% B

50% @I /

(A)

(B)

C) 40% =4 |
D) 40% &1 ‘4
-

1 4 STepf T % e T R
2 zae it B

£\

«— 10 cm—>

L

(A) 35.4 cm

(B) 25.7 ecm
(C) 18.3 cm

(D) 33.6 cm.

(25)

93.

94.

95.

Meena gives an simple interest of
45 for one year at 9% rate P.A.
What is the sum she has
borrowed ?

(A) T200
(B) %300
(C) T400
(D) ¥500.

Tell what is the profit or loss in
the transaction. A skirt bought for

¥250 and Sold for T150
(A) 50% Loss

(B) 50% Profit

(C) 40% Profit

(D) 40% Loss.

Perimeter of adjoining figure
which is semicircle including its

diameters is :

£\

«—10ecm—

(A) 35.4 cm

(B) 25.7 em
(C) 18.3 cm

(D) 33.6 cm.

PTnN




x 1 x 1
1 x g mam | 96 If S-—=2,20
w T35 3 4 is_z ° 34 Ty,
¢: (A) 27
(A) 27 j
i 27
27 B) —
» 2 B 1o
. 1
- L (C) 16
1 1
D) =" (D) 20
97. T FRUEYSE F 9 100 Fii, & | 97.  The perimeter of regula
TE I F A W Ff. [, pentagon is 100 cm. How long it
ida ?
- ' each side
(A) 10 em
B) 20 em +’
' (B)"20 cm
(C) 30 cm
(C) 30 em
(
D) 40 em. (D) 40 em.
lll
9% — e nresenen . -
- 98. an A .
a
(A) a™-n
{AJ aIl:lrnl:I
(B) a®m
(B) atm
{C’ l‘#l
{C) am+n
(D) a ™0,

{ 28 )



99,

100.

101.

N-231 1-Series-C

TE R O WF T 25 frAe A
ldkmﬂﬂméﬂﬁmﬂaﬁﬁﬁiiﬁr
S w3 e T T

(A) 108 kms

(B) 168 kms

(C) 188 kms.

(D) 148 kms. ]

5 H. ®1 10 km # #HI@

%:T‘TI:

(A) 1 : 2000

(B) 1:2

(C) 1:200

D) FH ¥ FE T

e 3 ST T @ B9 W qHR

=1 77 f@ama 10 cm LA

MrE 220 cm = i 180 cm ?ﬂj&."F

3 = fael el B T e ?

(A) 496

(B) 456

(C) 396

(D) 110. |
(27)

89,

100.

101.

A loaded truck travels 14 km in

25 minutes, if speed remain same.

How for can it travel in 5 hours ?
(A) 108 kms
(B) 168 kms
(C) 188 kms.

(D) 148 kms.

The ratio between 5 m and 10 km

is:

(A) 1: 2000
(B) '1 2
(C) 1: 200

(D) None of these.

Anil plan to tile his kitchen floor
with white square tiles each side
of the tile is 10 cm. His kitchen
is 220 ¢cm in length and 180 cm

wide. How many tiles will need 4
(A) 496
(B) 456
(C) 396

(D) 110.

P.T.0.



102, f= 2.34 ¥ wwy w9 § fafgn ; | 102. Write the fraction 2.34 iy,
- |

form :
3
(A) 21 23
(A) 2
4
2— - 4
® %3 - (B) 27
3
17
(©) 2 o 17
- 50 (C) 50
(D) 99 9 &1 &I (D) None of these.

103. 72 fwari @1 9% 9kg & @ 40 | 103. The weight of 72 booksis9kgwis

faramal &1 9R feaa EHUE is the weight of 40 such books:
(A) 18 kg. _ f (A) 18 kg.
(B) 8 kg. (B) 8 kg.
(©) 5 ke. Y (C) 5 kg.
(D) 15 kg. (D) 15 kg.
i
3 "
e (3.2 . ¢ 3];[:,..;
104. HH 34 [E “(Eﬁ—] 4. Find the value o 13) &/
w - 5
. (A) "2
B -2 "
4 (B) e
e © -5
20 .
(D) ——. 20
. ® -5

N-2311-Series-C 6



108.

106.

107.

TF IEMAFER Few = = 3.5
el #1 THE 3T 9L S 9Fd a9
gt @1 3FaT srm? '

(A) 890.8 cm? (Aprox)

<
(B) 089.8 cm? (Aprox) .‘.E
(C) 980.8 cm? (Aprox) I\
-
(D) 098.8 cm? (Aprox). :
¥iF A 2
A) =nr®
(B) =nr
{9} %1‘: r*h
(D) = rih._
yATeS AT Hemasi a 3 b &
e - S Gt gEEEw @l B4l
Bl ?
(a) Jab=ya-Jb
5 ofF
(B) 'i;' -Tbr ~
2
(C) [JE+JE') —a+2Jab+b
-
2
(D) (a+ﬁ)(a*‘{g)=“'b J
&)

105.

107.

A hemispherical bowl has a radius
of 3.5 cm. What would be volume

o.fwatér it would contain 7
(A) 890.8 cm? (Aprox)
(B) 089.8 cm?® (Aprox)
(C) 980.8 cm® (Aprox)

(D) 098.8 cm3 (Aprox).
Volume of Cone is :

Ai'nra
()3

3

2xr
(B) 3

(C) == r’h

which of the following identities
does not hold ?

(A) Yab=+a Vb
(C) (Va+Vb) =a+2/ab+b
(D) (a+vb)(a-vb)=a-b"

P.T.O.



108. |/

108.

109,

-

(D) . =

71

Multiplicative inverse of -1 -

18 °

) 5

5
D) —5-

2
5 .



165° ®l:

(A) 24
(B) 20
(C) 16

(D) 12.

1L W?@ﬁaﬁmmy,z'ﬂ'—?mﬂ

D X

X y 2

(A) 40°  40° 4Q°

(B) 130° 130° 130°
() 120° 120° 120°
; 120°.

(D) 110°  50°

hll-&eries-C 817

110. How many sides does a Regular
polygon have, if each of its interior

angle is 165° ?
(A) 24
(B) 20
(C) 16

(D) 12.

111. Find the value of unknown X, y, 2

in this Parallelograms :

D \ C
Vw
z —
A : B
X y Z
(A) 40° 40°  40°

(B) 130° 130° 130°
(€) 120° 120° 120°

(D) 110° 50° 120°.

P.T.O.



- fa=w A oo U 92 g 112. The required Triplat

of
317 - Pytha » .
., @ smavaw o wif: vihagorean Triplet Whoge
member is 6 are -
(A) 6,12, 18

(A) 6, 12, 18
B) 6 9, 12
( (B) 6,9, 12
(C) 6,12, 24 } (C) 6, 12, 24

(D) 6, 8, 10. (D) 8, 8, 10.

113. 25 ﬁm\m% fasm= 113. 72% of 25 students are good
§ s ¥ A A e

Science. How many are not g

T €72 in Science ?
(A)_18 (A) 18
. s
(B) 20 (B) 20
' r
©) 07 " (C) 07
(D) 16. (D) 16.

114.  12x* -7x+1 & ToH@Evs B 114. Factorise 12 x? —7x+1:
(A) (2x—8) (6x — 1) (A) (2x — 6) (6x—1)
(B) (3x—1)(4x - 1) | (B) (3x — 1) (4x—1)

1)
(C) 4x+ 1)(3x + 1) (C) (4x + 1) (3Bx+

1).
M) 6x + 1) (2x + 1). (D) (6x + 1) (2x+
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6.

n7.

p-ﬂl 1-Series-C

@mﬂ“ﬁﬁmw‘
we M 30 T A 6w e

(A) E{—)
24

24

‘_
® 39

(Ch

(D)

o WA gEm Wg W oaw TeN
sae i Fifa fawm! s SR
lﬂcmﬁai?m?ﬁm?cm?:

(A) TU cm?

(B) 110 cm*

(C) 150 em* .

(D) 220 em?. |

aahﬂa.sﬁ s00 fael zel
tﬁﬁaﬂmﬁmmﬁaﬂﬁmﬁ
ﬂmmmm%?

(A) 170
(B) 180
(C) 190

(D) 200. i

ﬁ

115.

116.

[r.l a cricket match a bats women
hits a boundary 6 times out of 30
balls she plays. Find the
probability that she did not hit a
boundary :

30
A) =
Y

24
30

4

(C) 20

6

(D) *2—4

(B)

Curved surface area of a right

circular cone whose slant height is
10 cm and base radius i 7 cm.

(A) 70 cm?

(B) 110 cm?
(C) 150 em?
(D) 220 cm®.

A Vessel has 4 litres and 500 ml of
curd. In how many glasses each of
95 ml capacity can it be filled ?

(A) 170
(B) 180
(C) 190

(D) 200.

P.T.0,



119.

A) 7 fam "@EmA W oam "

gt &

(B) A foum dems i ok 7w e

=1 4 799 B @ g

_it(:mﬂﬁfmﬁmu‘@wﬂzﬁnm

e

(D) Bl A=A wean fawm #

2 H |2 9% T WHd g@An faftEu
W | WA A = aves et
wafd 7 '
A 3
(B) —

(C) =<

M —.

!

.

118.

119.

Which statement 1s trye ?

(A) The sum of three odd nypy

1S even

(B) The sum of two odd number,

and one even number is gyg,

(C) If an even number is dividef

by 2 the quotient is alway
odd

(D) All Prime number are odd.

Write the Natural numbess fron
2 to 12. What fraction of them a

prime numbers ?

(A) l_i

(B)

i
2=

(C)

(DY 7



1 .2 :
120, ¥ FMAC 2217 . 120 Solve 2+ - 1> |

3 '3
(A) ‘g (A) g
(B) % (B) :-:-
(C) § (C) g
(D) % (D) %




SECTION-V : EVS (Sci.), GK and EVS (SST)

|
121, o= o wa & fow o d 121. Whichstateis(,‘.hilikalakem
fom 22 in India?
(A) =TT (A) Telangana
(B) :i1 w29 (B) Andhra Pradesh

Q) ===

(D) afas=rs)

(C) Odisha

(D) Tamil Nadu.
122. WWd w1 uwAn @fEa s

- 122. Where I.E the only active vnlm
Fw from #2 located dR?
(A) Taz
’ IR B rtl island
(B) =TT
B W On I\avaratu island
(C) =\18igy ux
(C) On Lakshadweep
(D) 37 &
(D) On Barren island.
123. a-,x
ot o weg WE 123. What was the name ufdﬁpl*l
T é? o proposed by the Madiy® P::
Govt. for protection of N
(A) Furg River?
(B) a9t = Wramm qra (A) Namami Gang®
ksh!
' Tapi Jal Sanr#
(C) 71 =11 Hiatm  Frsey P REE kg,m“
(C) Nadi Jal San™ "
B sli‘ [
(D) 7ot 2= 447, (D) Namami Devi Nar?
Mll—ﬂ-rl.u-c

(36)



124

125.

(37)

124. Who is the author of the book

“Freedom From Fear™
(A) Nelson Mandela

(B) Aung San Suu Kyi
(C) Bipin Chandra Pal

(D) Bal Gangadhar Tilak.

When did the General Assembly of

125.
and

United Nations adopt

protection the Universal declaration

of Human rights?

(A) lst December 1946
(B) 11th December 1945
(C) lst January 1947

(D) 10th December 1948.

126. When did the Chipko Movement

start?
(A) In 1973 A.D.

(B) In 1972 A.D.

(C) In 1975 A.D.

(D) In 1977 A.D.

P.T.0.



127. W@ER HUaL 9Y fFa 55 ERIp] 127. On which River wag th'-’-'Sn

AT 1Y Sarovar dam to be byilt oy
(A) M = (A) Ganga river

(B) a1 =3 (B) Yamuna river

(9} THE T (C) Narmada river

(D) FIHadr A&7 (D) Saraswati river.

128. g Uid 4 Wrd H ‘TET g@am' | 128. In which elections did

&1 3 f&@m gF@ W9 fem oan Congress Party give the Slg
‘Garibi Hatao' (Remove povert
[A‘} 1977 g India?
(B) 1971 AD.
C) 1989 E.
2 (C) 1989 A.D.
(D) 2004 %. (D) 2004 A.D.

129, AT P AR WRA H 9oH wwEw | 129, After Independence when *¢
| o
9@ F4 T @ first Lok Sabha electi®®
India?
(A) FEET 948 3 e
(A) October 1948 AD.

(B) FRA 1951 ¥ Fadt 1952 (B) October 1951 1 rer
1952 A.D.

(C) 31 1953 3. ©) August 1953 AD.

(D) HAFAT 1950 ¥, - (D) October 1950 AD

__N-2311-Series-C

i 0 %



130. s 9 HATE AR F EA w4

4’
(4) FEd 1951 3.
B) sFadl 1950 3.

(c) sFEd 1953 3.
-

(D) wTEA 1949 .
131. ﬁﬁmmwmﬁmfﬁr{
& = g @M Fw A fFE A R
17
4Atﬂ1ﬁlaﬁqﬁm
(B) fafgs == T
{C)'q'é'l?'m‘fl'l"rﬁ
{pyararﬁﬂutﬁl?hpeXar
132. ¥ arrda | a1 3@ A
mmaqﬁaﬁfemangﬁ\mam
17
(A) 19 T
(B) 2! ad
(C) 18 ad
(p) 17 a4

(39)

130.

131.

r]1§.' imﬂu;

Wh ;
en was the Election commission

formed in India?

(A) February 1951 A.D.
(B) January 1950 A.D.

(C) January 1953 A.D.

(D) February 1949 A.D.

“Freedom is my birth right and I

shall have it” who said this?

(A) Lala Lajpat Rai
(B) Bipin Chandra Pal
(C) Mahatma Gandhi

(D) Bal Gangadhar Tilak.

was the minimum age
required for Voting when the

Indian constitution was formed?
(A) 19 years
(B) 21 years

(C) 18 years

(D) 17 years.

P.T.O.



135.

(C) TFamFdm T
(D) 399 | w9
=R Fm R

(A) T

(B) 99l
(C) weaAl

(D) ®e

‘ggm feda' @ g W Ao

f&R yEN ® TEESE 917

(A) WA ® fafen o 9 fasm

# @i W)

(B) aw d W W IH A

mmﬂ“i’u'“

(D) w9 | wif =

133.

134.

135.

What movement of the Ea

causes the reasons to change
(A) Rotation

(B) Revolution

(C) Gravitational foree

(D) None of these

What is a Toucan?
(A) Bird

(B) Animal

(C) Vegetable

(D) Fruit.

What kind of document
‘Wood's dispatch’ or ‘woods P
paper’’ |
B
(A) About expansion of B
Empire in India.

(B) The kind of Education P\
that will be adopted i

(C) About implementﬂh“
of law in India.

(D) None of these. J



7% @ 9 ¥ I ¥ wwm | 136,

e Which state of India does the

wn d T O #? ) Tropic of cancer not pass
through? |
(A) T TR
(A) Uttar Pradesh
' T2
(By ™4 :
(B) Madhya Pradesh
©r MR (C) Gujarat
of FEvs) (D) Jharkhand.

3. Fe d @ FR-E @ s 4 137. Which of the following gases

# giee fHon 8 8d a= protect us from the Ultraviolet
27 rays of the sun?
(A) BT TRATFAES (A) Carbon dioxide
(B) 3= (B) Nitrogen
(C) Ozone
©) i
D) Hferam) (D) Helium.
38 9wt =) gy 9 wigd 9d 1 27 138. Which is the inner most layer of
the Earth?
@) T
(A) Crust
(B) ®rz
' (B) Core
/(€)W (C) Mantle
D) ¥f 7 %% =) (D) None of these.
‘:hu.a,,“ C
' (41) . 210



140.

139. Which is the largest desert in the

140.

141.

( 42

World?

(A) Sahara desert
(B) Gobi desert

(C) Kalahari desert

(D) Thar desert.

Which planet is the closest to the

Sun?

(A) Jupiter
(B) Earth
(C) Mercury

(D) Saturn.

Which article of our constitutt

eradicate untouchability?
(A) Article 18
(B) Article 17
(C) Article 21

(D) Article 20.



gt ® TR W SN T |
dw W EEA 2

A) fEeesm
(B) FEHEA

(C) o=t

(D) 379 | &g FE

@ SN TEEtE g own @2
lf] Fe,O,
(B) Fe,O,
(C) FeO

(D) ¥ | HE T

144, mmﬁ‘mi@ﬁﬂﬁ“ 144.

#5 #7?

(A) %9
'..-"

(B) 9eneid
(C) HTIT™
(D) afa=En

N-2311-Series-C

(43)

143.

142, How to prevent objects of Iron from

rusting?

(A) Crystallization
(B) Sedimentation
(C) Galvanisation
(D) None of these.

What is the Chemical formula of

rust? >
(A) Fe,O,

(B) Fe O,

(C) FeO

(D) None of these.

Which is the largest gland in
Human body?

(A) Liver
(B) Excretory organ
(C) Intestine

(D) Food pipe.

P.T.C



|45,

146.

E_.

N-2311-Series-C

e # favg @@ mm oaw wed

f&m 5 sFe@ ug -

(A) %% YieTHH

(B) ¥=97 HEH1

(C) HTH! 3=

(D) g9 1\ =T

= aE WY @ oAm

(A) FAOTES

(B) TEwH

(C) wTzofi

(D) &

145.

146.

(44)

The only successful Afy,

National congress

who struggled/brought agaipg
discrimination on the basis of ra

and colour :

(A) Hector Peterson
(B) Nelson Mandela
(C) Kofi Annan

(D) Boutros Boutros Ghali.

The Plant that captures insects

its prey is called :
(A) Dodders / Amarbel
(B) Gudhal / Hibiscus
(C) Pitcher plant

(D) Rose.




2

(A) ufern OTEy

147. Which is the smallest continent in

the World'? -

(A) Asia continent

(B) WIH HETEN

(C) s=fem e

(D) =fm smwfeEm wwEm

148, TR T R dw d R R
(A) WA

(B) wifsem
() fosaa

(D) =

9. W@ § we fem ¥ wfewmsl @

T wfufrm Fa @] g
(A) 2003 &
(B) 2005 °
(€) 2006 7

(D) 2007 o

11-Series-C

(B) Africa continent
(C) Australia continent

(D) South America continent.

148. Which country dees the Yangtze
River flows through?

(A) India
(B) Pakistan

(C) Tibet

(D) China.

149. When did the Protection of Wome

from Domestic Violence Act can

into force in India?
(A) In 2003
(B) In 20056

(C) In 2006

(D) In 2007.

(45)



150, ¥ fa W@ % feg wm o fem 150. Which part of Indi, 1S the |
& Point located in ? in

@ S S, (A) Northern pary

(B) Efm'l a1 ﬁ (B) Southern part.
-

(C) afyay wm o (C) Western part.

(D) &t & § (D) Eastern part.




